Versa Lift installation Guide for Treadplate Platform Cover

CAUTION: The inside edges of the tread plate cover are sharp! Wear gloves while
handling the tread plate cover during installation.

INSTALLATION OPTION A: Install without bolts.
Although (4) bolts are provided to install the Treadplate to
your platform, you may choose to install without bolts:

Installation After the Lift has been Assembled:

1. Lower the platform to garage floor.

2. Carefully tip the tread plate cover into the platform frame
(see Fig. 1).

3. Gently lower the tread plate cover over the platform. The
platform should fit completely inside the tread plate cover
(see Fig. 1).

If you have problems with this installation,
call Byers Products for more assistance at
405-491-8550.

Copyright © 2009-2012 Byers Products Group

All rights reserved. Revised 2010, 2012

INSTALLATION OPTION B: Install using bolts.
Four 2-1/4” long truss head bolts are provided to install the
Treadplate Platform Cover to your Versa Lift:

Installation During Lift Assembly:

1. Follow the Versa Lift Assembly Guide, except on page 16,
substitute Fig. 2 below for Fig. 26. Use the four (4) 2-1/4”
bolts supplied with this tread plate cover instead of the 2”
bolts normally used to assemble the platform.

Installation After the Lift has been Assembled:

1. Lower the platform to garage floor.

2. Remove the 8 screws that connect the door panel to the
lifting platform as shown in Fig. 28, page 16 of the Versa Lift
Assembly Guide.

3. Raise the platform a couple of feet above the floor, then
remove the 1/4-20 x 2” screws at the 4 corners of the lifting
platform.

4. Carefully tip-in the tread plate cover (Fig. 1).

5. Install the 2-1/4” long truss head bolts provided with this
tread plate cover as shown in Fig. 2 below, then tighten the
locknuts securely.

6. Lower the platform to the floor and re-connect the door
panel using the 8 screws you removed in step 2 above.
(Refer to Fig. 28, page 16 of the Versa Lift Assembly Guide.)

INSTALLATION OPTION A:
INSTALL THE TREAD PLATE
COVER WITHOUT BOLTS

1. LOWER THE
PLATFORM TO
THE GARAGE

FLOOR.

TREAD PLATE
PLATFORM
COVER

/
) 3.LOWER DOWN
/ OVER PLATFORM

INSTALLATION OPTION B:
INSTALL THE TREAD PLATE
COVER USING 2-1/4" BOLTS

1. INSTALL T.P. COVER
& WITH (4) 1/4-20 x 2-1/4"
) TRUSS HEAD BOLTS

(Replaces (4) 1/4-20 x 2")
|
sl 8

TREAD PLATE
PLATFORM
COVER

PLATFORM

|~ LEG @LEFT)

PLATFORM
LEG (2 RIGHT)

PLATFORM
} // PANEL (1)

PLATFORM
SUPPORT (2)

NOTE: SECOND (INSIDE)
HOLES ARE NOT USED.

L
@
)]
@ 8-




	Page 1

